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Newton’s method

For questions 1 & 2 use Newton’s Method to determine x> for the given function and given value of xo.

1. f{m}:m3—7m2+8$—3,$u:5

2 f(z)==zcos(z) —a? zo=1

places, that lies in the given interval.

For problems 3 & 4 use Newton’s Method to find the root of the given equation, accurate to six decimal

3. 2*—52+92+3=0in [4, 6]

4 222 15 —e"in [3,4]

decimal places.

For questions 5 & 6, use Newton’s Method to find all the roots of the given equation accurate to six

5. 2 —z?-_15x4+1=0

6. 2 —z?=sin(x)
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